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8 ! Q % Addisjon opptil 100 (horisontalt)

StudentName: ExamDate: _ ExamScore: ____
50+5= 97+ 65 =
36 +47 = 62 + 100 =
27+ 38 = 90+ 72 =
9+ 92 = 86 +25 =
63 +37 = 28+ 76 =
83+92 = 71+ 85 =
S0+72 = 96 + 86 =
28 +33 = 79+ 61 =
67 +25= 96+ 15 =
43+ 63 = 50+ 13 =
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Addisjon opptil 100 (horisontalt)

StudentName: __ ExamDate: _ ExamScore:
S0+5=55 97+ 65 = 162
36 +47 =83 62+ 100 = 162
27+ 38 =65 90 +72 =162
9+92 =101 86 +25 =111
63 +37 =100 28 +76 = 104
83+92=175 71 +85 =156
S50+72=122 96 + 86 = 182
28 +33 =61 79 +61 = 140
67+25=092 9 + 15 =111
43 +63 = 106 50+ 13=063
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